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COMMERCE
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. GNP at market prices — Indirect taxes + subsidies is referred to as :
(1) GNP at factor cost (2) GDP at factor cost
(3) NNP at factor cost (4) NDP at factor cost

2.  EDI system got legal recognition under which one of the following Acts ?

(1)  Electronics Act, 1996 (2) Right to Data Act, 1998
(3) DGFT Act, 1999 (4) Information Technology Act, 2000

3.  Following statements are related to futures contracts. Choose the statements that are not
true :

(a) Purchase of a futures contract is called short position.

(b)  Currency futures are traded on an exchange in standardised form and in fixed quantity.
(c) Default risk in futures contract is high compared to forward contract.

Codes :

(1) only (a)and (b) (2) only (a)and (c) (3) (a), (b)and (c) (4) only (b)

4.  From the following, identify the trading blocks in the world and choose the correct code :
(a) European Union
(b) North American Free Trade Agreements
(c) South Asian Association of Regional Co-operation
(d) Central American Common Market

(e) Central African Customs Union

Codes :
(1) (), (b) and (c) 2) (@), (b), () and (d)
3) (@), (®), (0), (d) and (e) (4) (), (b) and (e)
voss [ NHINRI z




TS
U9 - 111

fder: 30 g B UeEe (75) 9g-fasheuta UeH ¥ 1 UE U & 91 (2) of €1 |t yv e 2

1. SR HHd TS T @ - AT R+ AfoqSIS o1 JaY ¢ ¢
(1) Sed & WS T W (2) 3R AT WS S At
(3) IUEH AT W TF TH Hi (4) IURH ARG W T S b
2. T €l E yunel &I St g frefated § @ fea sifufem & et faeht €2
(1) sAFe Afuftm, 1996 (2) = H AfuER sifuftem, 1998
(3) 2t st uw 3 srfufm, 1999 (4) I AR SAfafTEE, 2000
3. frefafad woel &1 oy = diagel 9 81 37 w9l ol i S w91 T8 ©
(a) et Higersl 1 Tl FHEArd ¢ seushiias efd |
(b) T F=d &1 AR fafma Ashied @ frad wmen § foaan s R
(c) et wfaer § 9 SifEH i G9E oW diael § At gl 8 |
e :
(1) 9 (@) R (b) (2) F94 (a) M () B) (@), (b) FR(Q) (4) o (b)
4. Trafafea § @ fava & =mmie @i ® Tganfe o 9@ %2 i 9T :
(a) AT g
(b) T AT ToIds SATIN A
(c) &t Tedr i Sferult TR geen
(d) H=E FAHRERT A TR
(e) HEIT TR HEH F(ToH
%<
1) (@), () R (o) @ (@), (), () R (d)
(3) (@), () (©) (d) 3R (e) 4) (@), (b) 3R (e)
ross [ AU :




5. Match the items of List - I with items of List - II and choose the correct code :

List - I List - II

(a) Carroll Model (i) International trade
(b) Corlett - Hague Rule (ii) Interest rate
() Hecksher Ohlin Theorem  (iii) Principles of taxation
(d) Knut Wick sell’s Theory (iv) Social responsibility of business
Codes :

@@ () (o (d)
W ) @ 0O G
@ ) @ O
@) ) O @ )
@ (@) @) O

6. Labour Rate of Pay Variance can be calculated by which one of the following equations ?

(1) Budgeted Labour Costs — Actual Labour Costs

(2) (Standard Hours — Actual Hours) X Actual Wage Rate

(3) (Standard Wage Rate — Actual Wage Rate) X Actual Hours Worked
(4) (Standard Wage Rate — Actual Wage Rate) X Standard Hours Worked

7.  Given:

Margin of Safety < 80,000

Profit < 20,000

Sales < 3,00,000

What is the amount of Fixed Cost ?

(1) < 1,00,000 (2) X 75,000 (3) 55,000 (4) < 20,000
8.  Preparation of consolidated statement of accounts as per AS - 21 is :

(1) Optional

(2) Mandatory for Private Ltd. Companies
(3) Mandatory for Listed Companies
(4)

Mandatory for all Companies

g T .



5. get- 1 S 6 g - [ e @ frense R Tl % % 9r

el - 1 T - 11

(a) HIA HiEd (i) ST AR
(b) hrede & e (i) =
(c) THIN i = (i) HEE F fagr
(d) e fa= =1 fomt fagm (iv) SATIR i HHITE ST
< :

@@ () (o) (d)
1) Gv) @) @ ()
2) @) @) @ (@)
®) @) (@) G (i)
4) (@) @) @ ()

6. g9 R faeroy &1 ufehe fefafed & & fha T § fowHan < dehar &2
(1) =92 ® fyiia 99 ard — arafas 59 drd

(2) (AT E— aATEdfaeh H) x ARforeh HSIGH ANTd

(3) (A% ASGH T — AT TSIl <) X ARforeh h1d He
(4) (AFE TSGH S afas HSgd %) X A wE He
7. 9qd:
ESRESIIEI I T 80,000
Ik % 20,000
IEED % 3,00,000
T AT T e = B ?
(1) ¥ 1,00,000 (2) 75,000 (3) ¥ 55,000 (4) 20,000

8. TUTUH-21 % IR FHRA i@ fTaRo TR HTA €1 € -
(1) a*feus
(2) e fafafee sl & fag sifar
() HEg wHE % fau sifer
(4) |t wEtE & forg sAfem

vosrs [1FHFITMAUR NN

6]

Paper-III



9.  Which one of the following is not true of cash Budget ?

(1) The shortage or excess of cash would appear in a particular period.
(2) All inflows would arise before outflows for those periods.

(3)  Only revenue nature cash flows are shown.

(4) Proceeds from issue of share capital is shown as an inflow.

10. Study the following transactions :

(a) Raising of short term loans

(b) Goods purchased for cash

(c) Payment of bonus in the form of shares
(d) Issue of shares in lieu of raw materials
Flow of funds is :

(1) (), (b), (c), and (d)

(2) (b) (c), and (d)

(3) (9 and (d)

(4) Only (d)

11. When a consumer increases units of X - commodity by giving up some units of Y- commodity
and even to attain the same level of satisfaction, the marginal rate of substitution, will be
calculated by :

(1) Change in X - Commodity divided by change in Y - Commodity
(2) Change in X - Commodity divided by marginal utility of Y - Commodity
(3) Change in Y - Commodity divided by change in X - Commodity
(4) Change in Y - Commodity divided by marginal utility of X - Commodity
12. The following is the demand function in the small market :
Q=50-5P
Where ‘Q’" denotes quantity in physical units and ‘P* denotes price of the commodity. At
price X 5, the point price elasticity of demand would be :
(1) Zero (2) Equal to unity
(3) Highly elastic (4) Highly inelastic
voors AN ; —



10.

11.

12.

ke ole & gy § frfafed § @ &9 o1 wg T8 €2
(1) g T T A T Rt Tafy-fase & gurian s
) FTarg-foRe o |l STeeR wi STeel 9 g8 fe@erran S |
(3) HIA AT Ygd & ke YaATE ! & AT S 7 |
) o9 YSht % T it Wil w e % w9 H Qi S ¥

FrefefEd -7 1 e &Y

(a)  STcU-hIfcTsh O I I

(b) TeRal SR FEGE H TS

(c) T & ®9 H AT hl AR
(d) = AT F FISF A AR BT

faferi =61 wae &
(1) (@), (b), () W (d)
2)  (b), () R (d)
(3) (o) ¥R (d)

(4) a9 (d)

T IS ST Y - T FT BT 3HISAT ! BIed §U X - T HI THISA H gig Ham § 3R 34 I
off o &t Hqftc wTt Bt §, o LMt 1t HEid < HF IO 1 R T ST

X - 9% § IRadq &Y - a5 | 9REdd § 9 <9 W
X - 9% § IREdd Y - I%] 1 HHiq TR § 970 <9 W
Y - a%g # 9REdd &l X - a5 | 9iEdd § 96 <9 W

Y - I # 9REdd &l X - 9% i WG ST 9 96 o W

frreafafed Tt oy aeR & 7 %ed € -

Q=50-5P

SRl QY ifaes SehTeal 1 A STl § SR ‘P’ 9%g 1 od 9al § | 3 5% Yod W A & fig qod
Hraerar f= gt

1 = (2) T F HHE

(3) STty gl (4) STcAfgs STelr=qul
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13. Match the items of List - I with the items of List - IT and find out the correct matching.
List - I List - II
Production functions Name of the shapes of returns to scale

(a) Q=10.2 K019 1088 (i) Constant Returns to scale

(b) Q=1.01 LO7> K0-25 (i) Diminishing Returns to scale

() Q=0.84 1063 K03 (iii) Increasing Returns to scale

Codes :

(@ (b (9

O O @ G

@ G @ G

() @@ @) @

4 O ) (@

14. In the short-run, when a simple monopoly firm attains equilibrium and earns only normal
profit, its level of output will correspond to :

(1) Lowest average cost

(2) Average cost above optimum level of output

(3) Average cost equals marginal cost

(4) Marginal cost much below average cost

15. Which one of the following is a false statement ?

(I) Ramsey pricing rates to the methodology of pricing to situations where firms are
regulated and the maximization of allocative efficiency is the objective of pricing
together with the objective of profit - maximization.

(2) Peak-load pricing is a pricing practice where price varies with time of the day.

(3)  Value-pricing is the practice of pricing where the price is set based on its value to
the customer.

(4) Two - part tariff refers to a price structure which has two parts - a lump sum
charge and a variable charge.

16. All the properties of order, interval and zero origin are simultaneously possessed by :

(I) Nominal Data (2) Interval Data (3) Ratio Data (4) Ordinal Data

||| : papeca



13. el - I %1 W&l &1 et - I &1 731 & @ e w¢ R 9& 3 Jan

eft - 1 T - 11
I ®er Y o Fremt & e wi & ™

(a) Q=102 K019 1088 Q) YW ¥ oo FrEm
(b) Q=101 LO75 KO- (i) S % gEEE e
(c) Q=0.84 1063 K03 (ili) I F T frem
< :

(@ (b) (9
1) @) () (i)
(2 @) (@ ()
3) () () ()
4) @ (i) (i)

14. STCUFE H, AR Tk WM THISHR FH e U HIaT & R Had A= A1 SAferd il § al
% IR 1 TR 1 & aeI&dt 20

(1) e siea @ |

(2) 3RH F AIFHAdH W H fEw W i ara |
(3) T\d AT HHId ARG & FHH St < |
(4) Hid AFT ST Ed ARG 9 R RH B G

15. To=fafEd § 9 SH-91 w9 Tod 8 ?

(1) TH& 1 Hwa it o7 ufiffqet 3q swiwa Feion w1 o yored @ deifq € sl w6l ®
fafaae fan Sa1 § 9IR steed Haeh wmed 1 aAfudhan ¥R 0% o SH H1 3qe¥ hivd
et oiR stfursham wmy stfSia e off 71

(2) TRY ¥R ®mEd FERe T Hiud fufon gon € Skl a7 % 999 % Qe #d § $fal T 7

(3) g frufer wiva fAufor w1 T g § Wl wma &1 R g w1 I o & SHR W
IERIS GRS

4) fgumht wyes 1 o1 T YER 1 HEd T § AEE @ 9 B ¥ - T g9 99R @R
IREd=T J9R |

16. W, SRS IR Y ITM w1 Tt fa9mvand v wner f1e1 gy enfia &t €
(1) dHiepfasw stihel  (2) AU kel (3) oUW Tihel  (4) HAgAH kel

e :




17. Under which of the following situations, chi - square test is applicable ?
(a) testing homogenity
(b) testing goodness of fit
(c) testing equality of two sample means
(d) testing equality of two sample proportions
(e) testing independence of attributes
Codes :
(1) Only (a), (b) and (c) (2)  Only (a), (b) and (e)
(3)  Only (c), (d) and (e) (4) Only (a), (c) and (e)
18. Which one of the following is not the correct statement regarding sampling distribution of
mean ?
(1) Sampling distribution of mean is normally distributed for large sized samples.
(2) Sampling distribution of mean is normally distributed for small sized samples
drawn from not normally distributed population.
(3) “t’ distribution is not normally distributed.
(4) Mean of the sampling distribution of mean is equal to the parametric value of mean.
19. Consider the following statements and identify the wrong statements :
Statement - I Accepting null hypothesis, when it is false, is called a level of
significance.
Statement - IT 1—a is called power of a test.
Statement - III : Critical value of Z - static for two - tailed test at 5% level of significance
is 1.96.
Codes :
(1) Statements I, II and III
(2) Statements I and III
(3) Statements II and III
(4) Statements I and II
20. The process of thoroughly checking the collected data to ensure optimal quality level is referred
toas:
(1) Validation (2) Editing (3) Classification  (4)
i ||| 10 papeca




17. fr=fafaa § @ feg afifeafq o oE-@mr wer & fau y&@e 82
(a) HSIEE Tda
(b) TAE ATE fthe qdiem
() < ufaeel wreami st Fwar wia
(d) < YfIel STATal hl FHE THE
(e) U1 forererull st Tordsra a1 Ti&Tor
< :
(1) 9 (a), (b) 3R (c) (2) 9 (a), (b) 3 (e)
(3) FH (c), (d) R (e) (4)  F (), (0) ¥ (e)
18. fr=fafea # @ -9 oM men & gfaeyl Gfaaor & gay & 9gt 78 8 2
(1) T8 HR a1et Yiaeyt & Hefed Area 1 wfaest Giaawor amr=r Sfeain 2 €1
(2) W9 STHEN 9 €9 9 H@faaia T @ 99 BIe SR & gaeyl de /e w1 gfaee
Hfaaeo M= Siaaeo & @Eq | ghm |
(3) v Sfaao g HfaaRo T ear g
(4) TTeA 1 Ufaeyl WiaaR 1 We SAEEA % 0IEd o ¥ g |
19. frAfafEd Al | faar # R To| FoF a5 a1
HIT-1 ;I IR Hl AR FHIT, 4 I8 Tad @, a1 T3 Tedl 1 W Hgl a1 ¢ |
WAT -I1 ;11— o I T KT Ve Fel w1l B
HIT -1 : 5% Hedl TR W < fal arat wdiemor & faw 7 - Rfesws &1 wifdsw 7 1.96 8 2
%<
(1) HAFL, 11 TR I
(2) HETI AR
(3) HUF I AR
(4) FHAIARI
20. T TUEE WR HATEd w3 & U GuE oTikel i Ul ST i Uit I Hel S ¢
(1) fafem=ieo (2) HueA (3) @R (4) vfafe
vosss |1 UATHININANIN .




21. Statement - (I) : Management is the art of knowing what you want to do and then
seeing that it is done in the best and the cheapest way.

Statement - (II) :Management is the process of planning and regulating the activities
of an enterprise.

(1) Statement (I) is correct, but (II) is incorrect
(2) Statement (II) is correct, but (I) is incorrect
(3) Both the statements (I) and (II) are incorrect
(4) Both the statements (I) and (II) are correct
22. Assertion - (A) : No business runs itself, even on momentum . . . . . every business
needs repeated stimulus.
Reasoning - (R) : The management is the dynamic, life giving element in every business,

without its leadership, the resources of production remain as resources
and never become production.

(1) Assertion (A) and Reasoning (R), both are correct, and (R) is the correct explanation
of (A).

(2) Assertion (A) and Reasoning (R), both are correct, but (R) is not the correct explanation
of (A).

(3) Assertion (A) is correct, but Reasoning (R) is incorrect.

(4) Reasoning (R) is correct, but Assertion (A) is incorrect.

23. Match the items of List - I with List - II :

List - I List - II
(a) Credit Mobilier (i) Charles Babbage
(b) Charleton Twist Company (i) Henry Fayol
(c) Difference Engine (iii) Claud Henri Saint Simon

(d) Commentry Four Chambault (iv) Robert Owen
Codes :

(@ (b) (9 (d)

1) @) @) @ 3G
(2) (@) @ (v) ()
G @ (@) (@) (i)
@) @@ @ @v) ()

24. Find out the correct combination of statements with regards to business ethics :
(a) Business ethics is the behaviour that a business adheres to in its daily dealings.
(b)  The ethics of a particular business can be diverse.
(c) Business ethics has normative and descriptive dimensions.
(

1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (b) and (c) (4) All (a), (b) and (c)
i ||| 2 Fapeca




21. HAA - (I) : J9+¥ I S &t hell © foh 3119 1 i1 = ©, Jcqvand 98 <@ foh 9 gaim
e fhaeataargut fafy & foran Siran 2|
HUT - (I1) : o= Tl qen et i fransti W fra=mor wm &t ufwan ®
(1) A (1) 92 &, T (I1) TTea B |
(2) e (II) T B, T (1) Td B |
(3) <Ml € HUA (1) T (1) T
(4) < g FHAA (1) T () TR

22. MR - (A): B ol FIUE W &l Ic1 Tohdl, 9Te 98 Gol i RAfa § #=A A7 ... .. SRCD
fad =8 frafid Sgdraw &t stavgeRar vedt 71
T - (R) : Yo Y SFIEE 1 A U SeeEs qc ¢ S9% g & A9 |
SIS o W1 Sheel FEFIT € | W €, el Scurees el 91 U |

(1) AFUFRYT (A) TH ok (R) I & T &, 7T (R), (A) T T&I AT HI ¢ |
(2) AIHYA (A) T Tk (R) 1 & TR &, T (A) T el AT (R) Tal ol ¢
(3) AT (A) WEl €, T Teh (R) TTerd ¢ |
(4) e (R) T &, T USRI (A) ToTd T |
23. et -1 931 & Gl - 11 9§ gafard i
el - 1 et - 11

(a) hfee HifdferR () e e
(b) eted o H (i) BT WA
(c) fewim T (ili) FATE T Fe B
(d) FHA BR A& (iv) TR 3fam
e :

(@ (®) (o (d)
1) @) @Gv) @ @)
2) @) @ (@v) (i)
G) @ () (@v) (i)
4) () @) Gv) (i)

24, UM Afdewd & gy | fFEAfated § 9 q@ I9=d &1 999 ST

a) A Afdehdl I8 HaER ¢ fSrast oo ferufd & @9-37 o o S 1
b) fwdl fafire =ra@m@ &t Afawar fv= 81wt B
)

c) FIEE Sfdehdr & e 37X foeomaes &M B 2 |
1) %ad (a) 3R (b) (2) HIA (a) 3R ()
9 (b) ¥R (c) (4)  (a), (b) 3 (c) weft

3)
e
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25.  Which one of the following is not correct about business ethics ?

1

(
2
3

)
)
)
)

Business ethics reflects the philosophy of business.
Business ethics is a form of applied ethics.
Business ethics are governed by the Government Policies.

Ethics are the standards which govern decisions on daily basis.

26. A marketing network consists of :

1
2

1)
(2)
(3)
(4)

4

The tasks to devise marketing activities.
The tasks of hiring, training and motivating employees.
The activities that help in designing and implementing the marketing programmes.

The company and its supporting stakeholders with whom it has built mutually profitable
business relationships.

27. Target marketing involves which of the following activities ?

Market positioning
Market targeting
Market behaviour

Market segmentation

(a) and (b)
(b) and (d)
(a), (b) and (d)
(

b), (c) and (d)

28. The pricing strategy which adjusts the basic price to accommodate differences in customers,
products and locations is called :

(1)
()

g T

Differentiated pricing (2) Promotional pricing
Geographical pricing (4) Price discounts and allowances
14 Paper-III



25, frefafed § @ ®F @1 =edm Afawa & gy § 98 T8 § 2
(1) =FeEE Jfakal =g R Hi IRafea w8
(2)
(3) HIHM Afdehdr SRR Hfaal g e Bt |
) fdeRdl o T § S <R STHR W Ui 1 wnted e €

T Afdehdl SATERIeh Afdehdl &1 T &9 ¢ |

4

26. UH fauum Jeash # wimfad €
(1) fauoe fwansti &t 99 &1 wE
(2) wH=IE H aM, gffa w0 IR fwifia w0 & @
(3) fawm FrEiEE F T e A wA | TeE
(4)

FHET 37X SHF eI feaune fSe 919 361 TREAf{eh AR SATq1{eh T2l shi TATqT
FHI T

27. fr=fafaa & 9 foa feaneti =1 afera fagom § afmfaa fon s &2

(a) ISR STereefifqeny

b) TSR &l A&F A
(c) TSR SFeRR
(d) TSR faufertertor

FHe -
(1) (a) 7= (b)
(2) ()T (d)
3 (a), (b) T (d)
@ (b) (o) T (d)

28. hHd MERo WA S Imgen, Scel e T faug 1 9uEifd 3 & fae ga wimd § gHrEse
Hl §, SH FEd © ¢

(1) faufea wa fuRo (2) UIHTEACHS g e
(3) ihmiferes iva e (4) A T2 R T2
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29. Horizontal marketing system comprises of :
(1) the producer, wholesaler and retailer acting in a unified system.
(2) multichannel marketing.
(3) two or more marketing channels to reach one or more customer segments.
(4) two or more unrelated companies put together resources to exploit an emerging market.
30. Match the items of List - I with the items of List - II :
List - I List - II
(a) Face-to-face interaction with (i) Sales promotion
one or more prospective purchasers
(b) Any paid form of nonpersonal (ii) Public relations
promotion
(c) Short-term incentives to encourage (iii) Personal selling
purchase
(d) Programmes to promote company’s  (iv) Advertising
image
Codes :
@@ (b)) (o (d)
1) G @) @ 6
@ ) (v 0 G
@) () O @) @
@) (@) @) O
31. Which of the following techniques for appraisal of investment proposals are based on time
value of money ?
(@) Accounting Rate of Return
(b) Internal Rate of Return
(c) Profitability Index Method
(d) Earnings Per Share
Codes :
1) @and®) () Mand@© () @and(d) (4 (@), (b)and (d)
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29. ArIad fagum # gfmfaq ©
(1) Scdeh, Ao fashar SR Gew SR S Tehighd e § & % ¢ |

(2) wg-HEAH foquE |

)
(3) TF e TF § Ao Ueh-WUe! 0 &l 1ol A § SAferen fovom Hreawi g wga s
)

A AYAT I G Al THEHd HEE g Th I gL ISR ¥ oY oW & faw s+
T I T WY A E |

(4

30. -1 Al &l Gt - [1 FT A7) 9 Fafad Hi

et -1 et - 11
(a) Teh e UH 9§ Aferer wewrfad shardiedi o () fosra daeA

Y &9 HaQ

(b) STEAfFIF HaeA &1 HE ot SR (i) SEEES
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(
(
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(a) @RI T GA T

(b) 3Tiafe Fear <X

(c) oW gueh fafy

(d) 9fd R oFsH

E

(a) 3T (b) (2) (b) &R (o) 3) () R (d) 4) (@), (b) ¥R (d)
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32. On the basis of the following information, what will be the EBIT corresponding to financial
indifference point ?

Total capital outlay I 60,00,000

Financing Plans

(a) 100% Equity @ X 10/- per share

(b) Debt - equity ratio 2 : 1

Rate of interest 18% p.a., corporate tax rate 40%

(1) ¥10,00,000  (2) ¥ 12,00,000  (3) % 10,80,000  (4) T 12,80,000

33.  Which one of the following assumptions is not included in the James E. Walter Valuation
model] ?

(1) All financing by retained earnings only

(2) No change in the key variables such as EPS and DPS

(3) The firm has finite life

(4) All earnings are either distributed as dividends or invested internally immediately

34. Match the items of List - I with the items of List - II and find out the correct matching.

List - I List - II
(Formulae) (Type of leverages)
Contribution ] Ei 11
(@) T ERIT (i) inancial leverage
EBIT )
(b) Earnings before Tax (EBT) (i) ~Super - leverage
Contribution i@ O tine 1
(c) ~ EBT (iii) Operating leverage
Codes :
@@ (b) (9
1) @) @) @)
2 @ @) (i)
G) (@) @@ )
@) @@ @ ()
vosrs | NARNRNBIAING 15 —




32. fy=fafad g= & ouR | fodia dexy fog & o1&y 3 ot 318 3 =R g 2
Fa Yeimd aiemd T 60,00,000
EGRISE]
(a) 10 9fd &fw =t S H 100 fderd wwar
(b) TR - HHA I 2 : 1
=S T X 18 faera fd a, fFm T S 40 gfasa
(1) ¥ 10,00,000 (2) T 12,00,000 (3) ¥ 10,80,000 (4) ¥ 12,80,000
33. fr=fafed # 9 :F-9 Ard S 3. deet Jedis yiaqel § |infad T&l © 2
(1) haa gfaenia STl R |l fod-saaeen
(2) ¥ TE AR € N @ S g7 ufkafdal § g ufteadT @
(3) wH = Ffea fre
(4) Gft TSE1 T AT A AN oF T H foaRa R 5@ T § steren R gia SAaen fatTeer #Y
ERIRIRIES
34. GEIT- 15 7&I &I Gelt - [T 73] o H19 G HISC SR 98t gaad &1 fogfa wife
Tt - 1 et - 11
(97) (3R HT T&HR)
(a) W;;f_jqw () fo<fta e
(b) Wé jmazi ) (i) oy Ta®
(c) f;il (ili) T IR
%<
(@ () (9
1) (@) () ()
2) @) @) (i)
3) (i) @) ()
(4) (@) (@) (i)
vost [ RN 1




35. Statement - I: Working capital leverage measures the responsiveness of Return on Equity
for changes in current Assets.

Statement - II : When the annual demand for an item is 3200 units, unit cost ¥ 6, inventory
carrying charges 25% p.a. and cost of one procurement I 150, the economic
ordering quantity would be 700 units.

Codes :

(1) Both statements are correct
(2) Both statements are incorrect

(3) Statement - I is correct and Statement - II is incorrect
(4) Statement - I is incorrect and Statement - II is correct

36. Match the items of List - I with the items of List - II :

List - I List - II

Conventional HRM Strategic HRM
(a) Staff specialists (i) Fast and proactive
(b) Slow and reactive (i) People and knowledge
(c) Capital and products (iii) Line managers
(d) Cost centre (iv) Investment centre
Codes

@@ (b)) (o (d)
O @ O @)
@) G @) @ @)
@) i) @ @ @)
@ O @ @) @)

37. Which one of the following is a traditional method for selection of personnel ?

(1) Interview (2) Selection Test (3) Phrenology (4) Aptitude Test

38. The method of training in crafts, trades and technical areas is known as :

(1) Vestibule training (2) Coaching
(3) Mentoring (4) Apprenticeship
i ||| 2 papeca



35. HmAA-1: FHEMNA Yol Sk =] Ut o el & fou Tudr W o & gfdfsan <3 i
&TFT BT HTTaT © |

HYUA - 11 : Vd T 9% & forw anfifer AiT 3200 THTE &, THE AT T 6, Thtl TWH T TIR 25 Ffavm
vfa o & T T MW 1 AT % 150 B, 1 3Tfefer ST i WA 700 IHIEAT |

%<
1) I wmeA wE T
@)

) Tl SR e ¥
(3) HUT-1TE T IR HYUA - 11 7T ¢ |
)

(4) YT - 17T T IR R - [1 9 T |

36. Gt -1 7&l ol ol - 11 Hi 781 § GAfAd AT

T -1 T - 11
AT Te 3R T g TS T 3R T
(a) e forioR () g IR e wfwa
(b) efiten wd gfafsrarcas (i) @TEAA
(€) Usft wd e (i) Y& yeuw
d) WFE FR (iv) fraw &=
e :

@@ (b) (o (d)

1 G @ G (1)
(2 @) @Gy @ )
() i) @@ @ ()
@ @ @ @) (@v)

37. fr=fafea # | wifdel & ==9 &) i fafy §
(1) H&eER (2) = ghem (3) U form (4) srfela e

38. firedl, =R oK qeneient & ® wftreror fafy 1 @ed € -
(1) Tecds W gieo (2) srfer
PIGRINE (4) iy

()
e 2



39. Behaviourally Anchored Rating Scale is a technique used for :
(1) Selection (2) Succession Planning

(3) Performance appraisal (4) Recruitment
40. Which one of the following is not a mechanism of managing stress ?
(1) Rust out (2) Cognitive therapy

(3) Job enrichment (4) Networking

41. Interest earned by a depositor against a deposit with a commercial bank for custodial

service :

(1) is a fund based income

(2) 1is a fee based income

(3) is a combination of fund and fee based gain
(4) is a commitment based gain

42. Match the items in List - I with the items in List - IT :

List - I List - II
(a) ATM card (i) NPA
(b) Debts due for more than 30 days (ii) John Shephard Barron
(c) Micro finance (iii) State Finance Corporations Act
(d) State level finance corporations (iv) NABARD

Codes :

@ (b) (o) (d)
) (@) @) @) @)
2) () () (v) (i)
)

G) (v i) @ 0
@) @ O @) @)
rosss || LA IAANAIN -




39.
40.

41.

42.

i) (
rosss [N

TR T ¥ This T TWhdd Tk qo-ish ¢ fae ST foan S € -
(1) = & ferg (2) argerdt fisE % ferg
(3) Twares qeared & fau (4) wdl & o

frefafed 9 | M 9 T & a1 1 T T8 © 7
(1) 9Rem (2) EAMCHS ITAR

() wr wgfgw (4) Feafdn

arfiRen dan & fou foret anforfcass S & I/ 1 W SHehal g0 2afstd =

(1) fHfa-smenf@ ama 2

(2) o MHRG 3T T
() fafy 3R yow snenfia @y &1 e 71
(4) Wiaergar smenfid oy g1

Tl - 1 1 731 ! Gt - 11 &1 76l o 19 GAfad R

el - 1 T - 11

(a) TATHFE () WY
(b) 30 fe7 & s1ferss 37 =W (i) & IHES KA
(c) H&H faa (i) T T M At
(d) T i faa frm (iv) Here
He :

@@ () (9 (9
®» @ @) G @G
2 G @@ @v) (i)
®) (v) (i) () ()
“) i) (iv)

(ii)
Ml

N
w
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43. Assertion (A) : A well developed money market is the basis for an effective monetary policy.
It is in the money market that the Central Bank comes into contact with the
financial sectors of the economy as a whole and it is through the liquidity in
the market that influence the cost and availability of credit.

Reasoning (R) : A well organised money market is an essential condition for the successful
operation of the Central Banking policies, and for holding the conditions of
liquidity within the bounds of what the monetary authorities consider

desirable.
(1) (A) is true but (R) is false
(2) (R) is true but (A) is false
(3)  (A) is true and (R) offers correct explanation to (A)
(4) Both (A) and (R) are false

44. The operations of banks and financial institutions are regulated by :

(1) The RBI Act 1934 only

(2) The Banking Regulation Act 1949 only
(3) Information Technology Act 2000 only
(4) All of the above

45. To operationalise online, internet, mobile banking, debit card and credit card tools, some of
the essential ingredients are :

(1) Compliance with the Information Technology Act 2000
(2) Satellite connection

(3)  Selection of a portal and server

(4) All of the above

46. Any country consistently facing balance of payment deficiency can approach :

(1) The World Bank

(2) The Smithsonian Institute
(3) IMF

(4) The IMF and the IBRD

g T 2
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44.

45.

46.
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47. Counter-trade means :
(I) A sort of bilateral trade where one set of goods is exchanged for another set of goods
and a seller provides a buyer with deliveries.
(2) A company takes full responsibility for making its goods available in the target market
by selling directly to the end-users.
(3)  The companies in two separate sovereigns agree to exchange one set of goods for another
set of goods.
(4) A set of multilateral trade where one of goods and services may be exchanged for
another set of goods and services among the trading partners.
48. The floating rate system is characterised by :
(1) the market forces that determine the exchange rate between two currencies.
(2) the central banking authorities of the two countries mutually agree upon the rate.
(3)  help realigning the par value of major currencies.
(4) the rate of exchange mutually agreed upon between IMF and its member nations.
49. A practice of selling a commodity in a foreign market at a price lower than the domestic
price; and even at equal to the cost of production to capture foreign market is known as :
(1) Gouging (2) Forging (3) Dumping (4) Forfeiting
50. The highest percentage of export from India went to which of the following regions in
2013-14 ?
(1) OECD countries (2) USA
(3) SAARC (4) Latin America
51. Match the items of List - I with the items of List - II and select a correct code :
List - I List - II
(a) SEBI (i)  Exchange for small companies
(b) RBI (i) Secondary market in treasury bills
(c) STCI (iii) Regulation of secondary market
(d) OTCEI (iv) Ad-hoc treasury bills
Codes :
@@ (b)) (o) (d)
1) (@v) @) @G) @0
(2) @) @) G @
() @) @ @ (@v)
(4) @@ @) @ (@)
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50.
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52. X Ltd. goes into liquidation and a new company Z Ltd. purchases the business of X Ltd. It is
a case of :
(1) Amalgamation (2) Absorption
(3) Internal reconstruction (4) External reconstruction
53. When the cost incurred on recruiting, training and developing the employees is considered
for determining the value of employees, it is called :
(1) The replacement cost approach (2) The historical cost approach
(3) The opportunity cost approach (4) None of the above
54. In India, NIFTY and SENSEX are calculated on the basis of :
(1) Market capitalisation (2) Paid up capital
(3)  Free-float market capitalisation (4) Authorized share capital
55. Financial Instruments which are issued with detachable warrants and are redeemable after
certain period is known as :
(1) Deep Discount Bonds (2) Secured Premium Notes
(3) Bunny Bonds (4) Junk Bonds
56. Which of the following can be used by a company as communication mix to reach the target
customers ?
(a) Advertising
(b) Sales promotion
(c) Events and experiences
(d) Public relations
(e)  Direct marketing
(f)  Personal selling
Codes :
(1) (), (b), (d) and (f (2)  (a), (b), (e) and (§
() (@) (b), (d), (e) and (f) 4) (@) (b), (c), (d), (e) and (f)
57. In addition to motivation, learning and memory, which one of the following is included in
the main psychological processes affecting consumer behaviour ?
(1) Perception (2) Life cycle (3) Life style (4) Social class
voors AN 2 —
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58. Match the items of List - I with the items of List - II :
List - I List - II

(a) Geographic Segmentation (i) Gender, income, religion

(b) Demographic Segmentation (i) Knowledge, attitude, response

(c) Psychographic Segmentation (iii) Regions, cities, neighbourhoods

(d) Behavioural Segmentation (iv) Lifestyle, personality traits, values

Codes :

(@ () (o) (d)

O (@) @) @)

@ () @) O G

@) (v @) O )

@ ) O @ G

59. Which one of the following is not a stage in the product life cycle ?
(1) Introduction (2) Growth (3) Equilibrium (4) Decline
60. Which one of the following is correct statement in respect of co-branding ?

(1) Co-branding is an umbrella branding of goods of a company.

(2) In co-branding, two or more well-known existing brands are combined into a joint

product.

(38) Co-branding is the process of combining two brands for promoting brand equity.

(4) All of the above

61. Which one of the following is not a major punishment ?
(1) Withholding of increments (2) Demotion
(3) Transfer (4) Suspension
62. Assertion (A) : Job evaluation is essentially a job rating process, not unlike the rating of
employees.

Reasoning (R): Job evaluation is a practice which seeks to provide a degree of objectivity in
measuring the comparative value of jobs within an organisation and among
similar organisations.

(1) Both Assertion (A) and Reasoning (R) are correct

(2) Both Assertion (A) and Reasoning (R) are incorrect

(3) Assertion (A) is correct, but Reasoning (R) is incorrect

(4) Reasoning (R) is correct, but Assertion (A) is incorrect

i |||

W
o

Paper-III



58.

59.

60.

61.

62.

T - [ 1 AT I it - 11T Al § gafad Hife

el - 1 et - 11
(a) srifas fawfaeo () fom, o, ud
(b) SR faufaaszo (i) ¥, Afagha, gfdafsen
(c) TR fawfadeto (i) &, ¥R, T
(d) AR faufsrenTo (iv) St Feft, sfRE % T, 4o

(@ (b) (o) (d)
i) (@Gv) (i) ()

1)

(2) @) (@v) @) ()
() Gv) @) @ ()
@ Gv) @@ @) ()

frfafad § 9 Scdie Sia-<sh 1 Teh =01 &l ¢ :
(1) qf== 2) ok (3) W (4) YaA

frefafed # @ ge-wifen & e & & @1 Fu7 W& 2

(1) He-SifeT Tk wraAt & aegall t sl sifen 2|

(2) We-FifeT & AHH I e 36 W Al gufdg IduH Fiel & Th g I9KQ & &I H
gurfarse fea S 81

(3) e sfaeel & T % forw <1 siEl ol g9 F Ht FiHAT T Te-SHifeT Fed ¢ |

(4) ST F 9 9t

freAfafea # @ sE e 3ve T4 €2
(1) = i T (2) EEAr
(3)  EMIAC (4) T

ARwIT (A) : B e T w9 § Aviie faf ¥, S i F gviem 9§ fir 16 3
e (R) : 1 Yo T EER €, S T T WIeA § a9 56 G Hiel § faf
el o TS o 1 7Y 6 | T geal U i B |

(1) SARUHAT (A) T Tk (R) T & T & |
(2) ATHY (A) TN qeh (R) ST &1 TAd B |
(3) AR (A) TE &, T qeh (R) T ¢ |

ek (R) el ¢, T SMFUeRT (A) Terd T |

4)
e 31



63. Identify the correct combinations from the following :

. Training and Development .
Skills Methods Target Trainees

(@) |Knowledge Deliberation /Lecture Managerial

(b) |Multi-skills Vestibule training Operative

(c) |Decision-making skills Management game Managerial

(d) |Behavioural skills Sensitivity training Supervisory
Codes :
(1) (a), (b) and (c) (2)  (a) (c) and (d)
(3)  (b), (¢) and (d) (4)  (a), (b) and (d)

64. Which among the following are not part of staffing process ?

(a) Human Resource Planning (b) Recruitment
(c) Selection (d) Induction and Orientation
(e) Training and Development (f) Performance Appraisal
(g) Transfers (h) Separations
Codes :
(1) (&) () (g) and (h) (2) (g) and (h)
(3) (f) and (h) (4) None of the above
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Frefafed o 9 i It gk & 71 T& 8 2

O EEICERERISE] (b) et

() =T (d) SN qer e
(e) Tforeyor To fore (f) foaeT e

(g) F&ATI=IT (h) g R ST

FHe :

1) (), () () T (b) 2 (8 T (h)

(3) ()T (b 4) ST H § i T

e .
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65.

66.

67.

Match the items of List - I with List - II :

List - I List - II
(a) INTUC @i 1920
(b) AITUC i) 1947
(c) CITU (iii) 1955
(d) BMS @iv) 1970
Codes :

(@ (b) (o) (d)
@ @ 3G ()
2 @ @ Gv) (i)
G) @@ @ 3§D (i)
4) (@) (@) (@v) (i)

Assertion (A) : Amended Patent Act, in compliance with WTO, provides for grant of
product patent as well as a process patent for a period of 20 years from the
date of application.

Reasoning (R) : Under the Act, patent may be granted to an invention which means a new
product or process involving an inventive step and capable of industrial
application, a technical advance over existing knowledge.

Codes :

(1) Both (A) and (R) are true but (R), is not correct explanation to (A).
) (A) is false but (R) is correct.

(3) Both (A) and (R) are true and (R), is correct explanation to (A).

) (A) is correct but (R) is false.

Which of the following have been recognised under the intellectual property eligible for
creation of rights as per WTO mandate ?

(a) Computer software, music disc, performing art
(b) Geographical indicator
(c) Global positioning system

(d) Journals, books, seeds, design, brand

Codes :
(1) (a), (b) and (c) (2)  (d), (¢) and (a)
() (a), (b) and (d) (4) (o) (a) and (b)
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65. Gt - [ S g3t ! geit - 11 § oy

Tt - 1 T - 11
(a) TIEH i) 1920
(b) TS (i) 1947
(c) W™ (i) 1955
(d) sTTHTE (iv) 1970
< :

(@ (b) (o) (d)
1 @ @@ 3§D (i)
2 G @@ @v) (i)
G) G (@@ @) ()
(4) (D) @@ (v) (i

66. ATUFRAT (A): T 31 A % IO | FuNHd e rfufam steey &t arki@ ¥ 20 99 Wi
Ity T & fory fordt ong 1 U & WU-Ty TH Gihan U2 ot yer & B

e (R) : 39 AfufEm & S1EiH U U AfTshR 1 U Yo fovan < Wenan €, <1 T 8

& 31T G R IS H3a1 € 3R S ST STan o Haw ® R 7% adum

T % T TH dhHtehl 3=1d &

(A) Terd €, wfeT (R) &t €1

1)
(2)
(3) (A) 3R (R) T W& ¥ IR (R) (A) T Wt AT B |
(4)

(A) TE g, AfH (R) Tord €1

(A) R (R) THI T&t €, AR (R) (A) FT Tt A=A 6l 7 |

67. T 2 31 % AW F TR difgH FUS F A ARl & g & forw fFfafea & @ 9

T AT TR 2

(a) FFIR GRIR, HfSF fewh, T wen
(b) Fifas Hehds

(c) dfvas srafeed yome

(d) ORI, g, s, i, i

< :
(1) (@), (b) (o) (2) (), (9
(3) (a), (b) 3 (d) 4) (o) ()

e .
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68. NAFTA came into force from January, 1994 embracing :
(1) The USA, Canada, Cuba, Trinidad and Tobago
(2) The USA, Canada, Mexico
(3) Cuba, Mexico, USA, Havana
(4) Trinidad, The USA, Mexico
69. A common market is one where :
(1) all the trading nations agree commonly to levy a common and uniform tariff rate for all
goods.
(2) all the trading nations agree commonly to rationalise tariff and non-tariff barriers
mutually to promote intra-region trade.
(3) thereis a customs union along with free intra - union movement of factors of production.
(4) there is an economic union along with free intra-union movement of residents.
70. The Maastricht Treaty of February, 1992 renamed the European Community (EC) as
(1) the European Union (EU)
(2) the European Economic Union (EEU)
(3) the European Monetary Union (EMU)
(4) the European Economic Community (EEC)
71. In which of the following cases, Assessing officer has the discretion to assess the income of
the previous year in the previous year or in the subsequent assessment year ?
(1) Shipping business of non-residents
(2) Association of Persons (AOP) or Body of Individuals (BOI) formed for a particular
event or purpose
(3) Assessment of persons likely to transfer property to avoid tax
(4) Discontinued business
72. Rental income received by a foreign individual, from another foreign individual, in respect of
the property situated in Delhi is taxable in the hands of :
(1) Resident and Ordinarily Resident (OR) only
(2)  Ordinarily Resident (OR) and Not Ordinarily Resident (NOR) only
(3) Non Resident (NR) only
(4) Ordinarily Resident (OR), Not Ordinarily Resident (NOR) and Non Resident (NR)
i ||| ’ papera




68.

69.

70.

71.

72.

oot |H||H|||\H||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

T U TE A T (ATRI) a9, 1994 9 ifeqea | a1, e frefafea <o e € -

(1)
()
()
4)

J TH T, FHATEl, T, e TR e
q TE T, FHrel, Hfemeh

I, HIFIHI, I TE T, T

fafrere, 9w T, A

T G IR 9% 8, STe

1)
()

€)
4)

oft AT < WY T F TR W A TS THTHH Yook o % T Tedd 81 ¢ |
gft SR < 3T & AR &l FEH & A TR T 9 Yoo @ M:Yeh AT8™ Hl
IR ET I % o wewd B 2 |

SCUTEH & AT 1 SFaeEs H G G Bl § U T Ao 99 €

Frrenfel & qor SfaR-e Wee % WY Th il & gran § )

AT, 1992 T Hifegs Wiy o §R A FHRE (3.91) 1 M agaet Hfaread 5 § 31 @ fean

™7
1)

)
3)
4)

T T gfE (2 9)

T U gshHITS Haa (33 )

T A Al i (3T )
T AT s FEgfel (3 3 ©1)

frefafed o 9 forg ame § e faio stfysmrt 1 fagw & fo a8 7 o4 &1 o/ & 79 99 | &
AT 3TH AT HT uRe 99 ° 2 & fou fuffa =i ?

(1)
()

®3)

4)

TR- et & e FRER |

THIIUEE % 9 (T 311 91) 31eren sl o7 sfeasiard (&t 37 oTg) foent faior foredt
o = Sreran yEeH & forw ger 2 |

3 afadl w1 = fAuRe 59 1 = o=n & fau u Tafa S g5aiaid i 94 i
GEET R

EHC P

T Taeh =i o o1 faceh =t fooeh e Owfg & TR g1 89 ael 3T &el e arg it ?

(1)
()
(3)

framet R Tumer fardt (37 oR) o

reRe fart (37 3R) IR STHERY fardt (W9 o7 R) A=
SAHaE! (TF 3R) 7

iy fart (37 31R) Sraner feamret (T 8h 31R) SR Stfardt (TH R)

W
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73.  Which of the following income is not chargeable under the head ‘income from business and
profession” ?

(1) Profits and Gains carried on by an assessee during the previous year.

(2) Income derived by a trade professional or similar association from specific services
performed for its members.

(3) Income from the activity of owning or owning and maintaining race horses.

(4) Salary received by a partner of a firm from the same firm.

74. Mr. A earned a capital gain of I 100 lakhs on 31-2-2014 from the sale of a long term capital
asset (land) within the limits of Jaipur corporation. If he invests ¥ 60 lakhs, out of
% 100 lakhs, in Rural Electricity Corporation Bonds approved under Sec. 54 EC in 20-2-2014,
what is the amount of exemption he can claim under Sec. 54 EC of Income Tax Act for the
AY 2014-15 ?

(1) % 60 lakhs (2) ¥ 50 lakhs (3) ¥100lakhs  (4) % 30 lakhs

75. Under which of the following situations, the Appellate Tribunal can rectify the mistake in
the order passed by it under Sec 254 (2) of Income Tax Act ?

(a) If subsequent decision of the Supreme Court/High Court is available on the subject
after the Appellate Tribunal’s order

(b) If an assessee apply for rectification of the Tribunal’s order by raising fresh grounds
before the Tribunal

(c) If the omission or mistake is on the part of Appellate Tribunal

(d) If the order is passed by the Appellate Tribunal under an erroneous impression of fact

or law
Codes :
(1) (a), (b) and (¢)
(2) (), (© and (d)
() (@) (©) and (d)
(4) only (c) and (d)
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73. frAfafed § @ o1 9 a1 'SR a9 99 § o’ & v & A g & 2
(1)  F-Fuif g Taad | SHAE @ S T A SR it |
(2) TH FREN R a1 UH & Rl 9e1 gRI o 9eel & Ui for=l fafire dansti o fag
TS 3T |

(3) YG-HIH o ISl o Hifcteh B ST Ik T 3R @HTA A i el | T a1t 11 |
(4) THEl wH o 9NGR &1 39T wH 9 i 3 o |

74. oI T 31-2-2014 1 SR Fm ot ofeem 7 feod 4ot ofterdfa (4fF) i a=e T 100 TR @
ST St ey eifsta w1 afe s 100 @@ | | T 60 A % w0 fostedt fm wie, S
feiaR 20-2-2014 1 54 $ H Y U F A WFd €, TS A1 T, I TW 2014-15 F foIU 10T
sTfufam ®T Ui 54 3 9 % o7 forg T W B 1 @1 99 F Rl © 7

(1) T 60 A 2) %50 @@ (3) %100 O (4) T30 9@

75. Tr=fated o & foe aRkfFafai 9 srdica miteno, st sTfufrem ot 9/ 254 (2) o ST 9
SR T T hl YR F FhdT § 2
(a) AfS Tdieia WfbeIor & SRS <4 & I Soaay =AHTed /3ed <IRed &1 36 faws | a1
I O SueTsH B |

(b) AfE FE -t TC FROT F I3 TC YA H GIR HA H1 STHCAT HTIIHI0 T AT
HIA R

(c) S Y& ryan I T JIferhor &1 3R | g8 2 |
() afe erdteita Wit grr foreht qear sreren fafy o wTora guma & o1l emew fean mn 21

(1) (), (b) 3R (0)
2) (b), () ¥R
(3) () (o) ¥ (d)
(4) A (o) IR (d)
-00o0-
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